SHEMARPE SRR TG BHf 931125

B 5y gieinns B %
E JEE5% #
—. =EE (B&E 10 2)
4 6 8 0o 1 2
1~(C) g H- WS pvifp e 0? (A))6 8 10 (B)-1 0 3
8 10 12 -2 -3 0
a-2b b-2c c-2a a+b b+c c+a 1 5a a+9
(C)lb—2c c—-2a a-2b (D)| a b c | (E) 5b b+9
c—2a a-2b b-2c b c a 1 5¢ c+9
a-2b b-2c c-2a a b c
f#47|: ""lb—2c c-2a a-2bj=-7lb c a
c-2a a-2b b-2c c a b
x+4 0 1
2-(C) Fi=-1 x=2 1 i fOQI=I ] x =3t I gx=V LI 2 (A)-9 (B)-19
3 5 x-
(C)-29 (D)-39 (E)-49
7 01
[f314] : Bt = F(3=|-1 1 1|=14-5-3-35=-29
3 52
a d gl [c f i a d g/ |[a-b d-e g-h
3-(C) *Mlfpivrsdr? (A)b e hi=lb e h (B)b e hj=b-c e-f h-i
c f i| |a d ¢ c f i|] |[c—a f-d i-g¢
a-b d-e g-hl j|a d g 3a 3d 3¢ a d g
Clb-c e—f h-ij=b e hl (D))3b 3¢ 3h|=3b e h
c f i c f i 3c 3f 3i c f i
g a d a d g
(E)lh b el=—|b e h
i ¢ f c f i
1 a bc a a° abc
4+~ (E) S b cal| e FE- S Dl (A)ib b* abc
abc )
1 c ab c c¢° abc
1 a a’° 1 a bc 1 a*> a’
(B)L b b* (C)|0 b-a ca-bc| (D)(a-b)(b—c)c—a) (E)1 b*> b’
1 ¢ c? 0 c—a ab-bc 1 ¢ ¢
1 a bc a a® abc| |a a* 1 1 a a°
f245): 1 b cal=——|b b abc/=|p b> 1U=f b b?|=(b—a)(c—a)(c—h)
abc , 5 5
1 ¢ ab c ¢ abcf |[c ¢ 1 1 ¢ ¢



1 a bc
=0 b-a ca-bc
0 c—-a ab-hc

—. AR (BE 10 1)
5 AR iy Z L 13(a-D)x+2y =10, L,:(a-2)x+y=3, L;:(4a-5)x-3y=1H
B Hla=_ WAHBEREEE -
[£%]:3:12)
[i#44] : VL L L S AR
3(a-1) 2 10
S.0=la-2 1 3|=3(a-1)-30(a—-2)+6(4a—-5)-10(4a-5)+27(a-1)—-2(a—-2)
4da-5 -3 1
..0=-18a+54, .".a=3
3X+y=5 N
IX+y=3 :>{y=2 T'z\gﬂé’@(l, 2)
7x—-3y =1
10 105 45
6~ == |8 -28 36| Vifi = °
6 7 29
: —2240
a b c 7a-b+3c -2b+3c 5c
ri=2-{|7p—-q+3r -2q+3r 5rj=___ -
X Yy z X-y+3z -2y+3z 5z

7a-b+3c -2b+3c ¢ 7a-b -2b c a b c
:"F"L?C:57p—q+3r -2q+3r r{=5[7p—q -2q r|=(-70)[p q r|=-140
IX—-y+3z -2y+3z z X-y =2y 12 Xy z
2-x 4 -3
8\r%f(x)= 2 1-x 0 Ff)=0V=1Uha, B, yla+p+y= :
1 -1 3-x
afy = °

7769

2 4 -3
i34 a+f+y=2+1+3=6 > afy=1(0)=2 1 0[|=-9
1 -1 3

£2H



2 3 5 1 1 1
49 25(=2x(-3)x5x|2 -3 5|=(-30)x(-5)x8x3=3600

8 -27 125 4 9 25
1 1 1
10~ {*f| a b c |=__ o
b+c c+a a+b
53] 0
1 1 1 1 1 1
f247| | a b c |=| a b c |=0

b+c c+a a+b| |a+b+c a+b+c a+b+c

11 ~ FAABC = TEI%JTEE A(4,1), B(2,7), C(-1,2) » JIAABC fIV- i £,

— — 1|-2 6
245 AB=(-2,6), AC=(-51) ..A== =
a0, By 201
12 ~ 2] L PUREES A(0,1,1), B(2,1,4), C(=3,2,1), D(0,2,2) » H]
(1) AABC [ i, > (2P ABCD I g

: <1>@ (2)%

: (1) AB=(2,0,3), AC=(-3,10), AD=(0,11)

ABx AC =(-3,-9,2) ."./AABC [/ &@=%\/9+81+ - @

2 0 3
)PHpi ABCD:% -3 10 :%|(—3, —9,2)-(0,1,1)|=%
0 11
1 ad 2a+3 d 1 2a+3 d a-2
13-%,12 b e|=4-[(1)2b+6 e 2= ' (2)|2b+6 e b-4|=
3 ¢ f 2c+9 f 3 2c+9 f c-6
:(1)8 (2)-28
2a+3 d 1 |2a d 1 1 a d
211 : ()[2b+6 e 2/=[2b e 2[=2]2 b e|=8
2c+9 f 3 |2c f 3 3 ¢ f
2a+3 d a-2| [2a+3 d -2/ |2a+3 d a 3 d
(2)|2b+6 e b—-4{=|2b+6 e —4{+|2b+6 e b|=16+6 e
2c+9 f c—-6] |2c+9 f -6 [2c+9 f < 9 f
1 ad
=-16-3]2 b e|=-28
3 ¢ f

£ 3H

O T 9



a b+c b
14 -~ F%a b,c *AABC = #= > (1)F, b c+a c|=0 - [JAABC I 7/R4g, ' (2)
c a+b a
a a’ a+b+c
b b* a+b+c|=0 > HIAABC I 7JfRES °
c ¢® a+b+c

(53] Qr= 5 Q= &y

a b+c b acb

:(1)b c+a c[=0 ..b a c[=0 ..a*®+b*+c*-3abc=0
c a+b a c b a
(a+b+c)[a®+b’+c*—ab-bc—-ca]=0 . a+b+c=0

.’.%[(a—b)z+(b—c)2+(c—a)2]=0 sa=b=c ..AABC H[-= F[

a a’> a+b+c a a* 1
(2% |b b* a+b+c|=(a+b+c)b b* 1=0
c ¢ a+b+c c ¢t 1

=(a+b+c)(a-b)(b—c)(c—a)=0
a+b+c#0 > .'.a:b§9 b:c§9 c=a ..AABCEETp= &t

NS

FRFE = HJE A:(3 1-1), OB = 0,2,1), oC = (1,4,2) » FlIphir== [flJﬁ_E | AR
E

[Eﬂﬂ JEB%% W o

3 1 -1
f245: 0 2 1|=3
1 4 2
a 3 p
16 ~ F%a BELX—4x+2=0LV 4L |18 B al=__ -
p a 3
53] 49
a 3 p
i2145|: |3 B a|= Baf)x3-p°-a’-27=-49
g a 3
Ca+f=4, af=2 .. +p=12 P+ B=(a+p)a’-af+F?)
X+y 2z z
7~ " x  y+z X |=___ -

y Yy X+Z

: 4xyz

£ 4H



Xty Z z 2(x+y) 2(y+z) 2(z+X) X+Y Y4z Z+X

fa49l: | x  y+z o x |=| X y+12 X |=2]-y 0 _z
y y Xtz y y X+2 X -z 0
0 vy X
=2y 0 z|=4xyz
X z 0
18+ BT PFRE A(-L -3, 3), B2, 1, 4), C(1, 4, 17), D(0, -1, ~12)fiv= FEEV i
(¥ %]: DA=(-1 -2,15), DB=(2 2, 8), DC=(1 -3, 29)
-1 -2 15
A=|2 2 8|=-102 » == E’J%j/?g%ﬁ%aMzﬂ .
1 -3 29

19 - %A, 2), B(-1,1), Clk k+6) » (1)F) AABC E-I%gm% -
(2)%, A, B, C i8> T k=

= = 14 -1] 1
¥ %l AB=(-4,-1), AC=(k-3,k+4) » .".ANABC=—~ ==
(-4,-1) ( ) A 2‘k_3 k+4‘ I3k +19)
1 7 26
1= =—=3kK+19=27 = k=—47 -——
()2|3k+19| 5 F 3
1 19
2)— =0=>k=-—
()2|3k+19| 2
1 a al
20~ ¥ a,b,c AANABC V== > 2L b b*|=0 - [[JAABC fL{FFE = £7 2
1 ¢ ¢
73
1 a a*— (-1 1 a a
1 b b+ =0=10 b-a b*-a%=0
1 ¢ c’e 0 c-a c*-a°
. 3.3 2 2
:>b a b3 a3=0:>(b—a)(c—a)1 b2+ab+a2:O
c-a c*-a 1 c’+ca+a

= (b—a)(c-a)(c*+ca+a’-b*-ab-a*)=0
= (b-a)(c-a)(c-b)(c+b+a)=0 > ..b—a=0fyc-a=0fc-b=0
S.b=amyc=a@ic=b » " AABC IREHZ £
3-x 2 2
21~ i HAF) 1 4-x 1 |=0

)
W

£5H



= (2-%|1 4-x 0 |=0% (=)

1 1 1
= ((2-x)0 3-x 0 |=0
0 -2 1-x

= 2-x)B-x)(1-x)=0=x=1, 2,3

-1 a 3
22 i@} EF| 3 1 a+3<0
a-1 4 9
-1 a 3
§#|°|3 1 a+3=a’+2a"-29a+42 > (a-2)(a-3)(a+7)<0 ..a<-7THy2<a<3
a-1 4 9

a+b ¢ c
3~ a b+c a |=4abc

N

b b c+a

a+b ¢ c (-<1) [0 -2b -2a )
a b+c a } =la b+c a ﬂ

b b c¢c+a b b c¢c+a

—-2b -2a

C 0 | =2abc + 2abc = 4abc
b 0 c

(@)

£ 6H



